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§ PARNELL COLLEGE
ACADEMIC COLLEGES BROUP

MAY EXAMINATIONS 2014

SUBJECT: Year 7 Mathematics

Time allowed: 1 hour 30 minutes Total Marks:130

READ THESE INSTRUCTIONS FIRST

All your answers and working are to be written on the examination paper.
Calculators are permitted.

Show all your working for questions worth more than 1 mark.

Answer all questions.

The number of marks is given in [ ] at the end of each question or part question.

Section Total Mark
Whole Numbers 30
Measurement 30
Location 20
Fractions, Decimals, Percentages 30
Problem Solving 20
TOTAL 130
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1. Using the number 3658 answer the following questions:

a) What is the place value of the 67 100'S / hungreda [1]
b) What is the value of the 5? 50 [1]
c) Round the number to the nearest 100. 3700 [1]

d) Write the number in expanded form.

3vloy + eyl + Sxlo + 8§ (xi)

[1]

2. Give examples of the following

a) asquare number. W, [1]
- LAY

) aprime number ] - etk [1]
¢) acomposite number it [1]

3. List the first 4 multiples of 12 12, 2%, 36, 43 [1]

4. List the factors of 12 in factor pairs (, 1 3 6 2,6 [2]

5. Round 348 to:

a) the nearest 10 350 [1]
b) the nearest 5 350 [1]

d) How would you write 348 using one figure approximation?
300 [1]

6. Write 4 X 1000+ 2 x 1004+ 7 X 10 + 5 X 1 in compact form.
¢2Fs [1]
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7. Using the numbers 21 and 7 show full working to find:

a) the sum of the two numbers

&l
Y
28 v/
b) the product of the two numbers
21
x * /
- v
G ¥ ¥ [2]
c) the difference between the two numbers.
l \(
1 wm o
4 i 2]
8. Calculate the following (showing full working):
a) 74+ 58 +347= !
¢
S8
VeI
2 oo B
¢ #1 %79 [2]
b) 37 x 14=
37
| ¢
'1g g8 v4
1 % 7
[ 518 [2]
c) 12624 +16
89"
l6 ) 1262
il B vd
€2
- 28 /
T 87 pj
— LK
0
+89

16 )126%2%
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9. Calculate showing full working,
a) 3+5X6—-2=

3+ 3 -2 /

33 ~& 3 [1]
b) (18+2)x4—-3=
20 X ¢ -3 / 77 [1]
o - 3
10. Write 36 as a product of prime factors.
36
7\
B 13
/N
Z 7 v
/\ g
5 3 I T x3x%S [2]
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Metauremert  vechon :

11. Below is a table of the length and width of various rectangles.

fake cfﬁ ’/Z mavk <7L?>/ ncorreet b
o A M % 2 macko

Complete the table by filling in the blanks.

Length Width Area Perimeter
4m 3m F2m? I m
2m 5 m 10 m* lem
- S 35 m? 24m
or [6]
9 an #ra
12. Complete the sentences below by giving an example for each:
a) A unit of length measurement is mm__ om /GM, m [1]
b) A unit of mass measurement is m\é} ; 5{ , 16\7 g [1]
c) A unit of capacity measurement is meC L [1]
13.
b) Find the missing lengths of the sides in the diagram below. [2]
6m
{
“ Im
4m 3m
Im v
Sm
4

Pollons  thregh
c) Find the perimeter of the shape. (Mlow 1 ﬁ)/v w \j

” Mo of b) s

b+t ¢+3¢3r3¢t] incovrect
vd
20 v [2]

d) What is the area of the shape?
Ixg o+ Ix|
R
/S m 2]
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14. Below is a courtyard.

3m
a) Find the perimeter of the courtyard above.

b+9+ 6+ 3+ ¢+3 ¢t &+3

38m [2]
b) Calculate the area of the courtyard
bx3 = I3
3xz = 6
{x3 = I8
42 m* 2]

¢) How many 250 mm by 250 mm square tiles would be needed to cover the whole
shape?

/'mz - /é '/7/t’/,)

42yl

£#2 [1]
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15. A days milk from one cow fills the container shown in the diagram below.
a) What is the volume of the container?

2S5 x I§ x 20
20 em 7500 m® [2]
b) What is the capacity of the container?
7500 mL [1]

¢) How many 1 L milk cartons could be filled from the milk of this one cow?

7 or 1S [1]
16. Calculate the area of the shaded triangle shown.
G5 = ¢snd
G5 + 2
22:5 m* [1]
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17. The Magic Box Company has been asked to make drink containers that look like the
carton below for the Sweet Drink Company. The drink containers will be put into
cardboard boxes that measure 1 m by 1 m by 40 cm. The drink containers should be
made so that exactly 40 drinks fit into each carton leaving no space in the carton.

Sweet
Drinks
40 cm
Carton for 40 Sweet Drinks
1m
Im
a) Calculate the volume of the carton.
[ x | X 0%
Ok 00 x 100 ¥ 40 /

O.cm? 400000 chi’ [1]

b) What should the dimensions of the Sweet Drinks containers be to fit exactly 40
into the carton?

v for govd  atlempt

0 X 10 X € cm .

[2]

18. Accurately measure the rectangle shown and give the lengths of the sides in
millimetres. [2]

23+ mm /

6 ) mm

Page 8 0of 19 @



19. On the grid below draw the following:
a) the x and y axes from 0 to 16.

b) Plot the point (2,4) and clearly label it A.

¢) Starting from A move 5 squares East and label the new point B.

L
d) From point B move 6 squares North and label the new point C. [1] ’[r;‘)u’j
e) Mark a point D that is the fourth corner of the rectangle ABCD. B o ,,eJ
What are the coordinates of D? (2, '0) [2]
\(/ A

(¢

b}

it

3

v

]

) 4 gl

9

3

7

6

s

¢ A 4

3

2

i
>
O 2 3 ¢« § € 72 & 9 70 w rr 13 /g (5 16 x

f) What is the compass direction from A to C? NE [1]
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20. The Eiffel Tower in Paris is approximately 300 m high.
a) How tall would a souvenir model of the Eiffel Tower be if it was made at a scale
of 1:1000?

300 =g = O3Im

Ok 30000 = 000 = 30 om

Dsm/ 30 em  [2]

b) Key chain souvenir models of the Eiffel Tower are 5 cm tall.
Express the scale of the key chain model in the form

806000 <+ §

. v
1. 6000 2]

21. Below is a map of part of Paris.

SOUBTNSSENW a ) . wengome F
T Ay LT 4

10 Lo 3
) g &:““,Cventm'

57 L 1@'Pompidw -
MARAIS

=1
g
£
g
2
4
=

2 & LR :
W - £ 4 -4 Cathédrale |
El X g A *bd P Notre-Dame ;
o & N Ge
% e NS { Aty S5 ain
% * g FHe i L L
: ; «&F ¢ Palaizdu & Sorbonne
\ 4:3 co ke - Luxembou i
4 !{{; a‘;;ﬂ“ Qg'\‘a‘d 7 . l%ﬁsTlN IQUARYER S Nox
K ¥ = : e T € Chateau de Versailles
X =) ] he s N =
; * % ol i i & W’ Le Potager du Roy
£ o, e,
% o (i % 4 € Centre Pormpidou
% TR o Tour "% jacoupole He g
2 ontparnasse W . h “ | € Place des Vosges
558 Moy, # ;
“fon, g, €} Rue des Rosiers
Garei\’:\:‘s%. A g :
Montparnasse & Mmb;‘_T_PA-RNAS.S E %Y o ; _ £ Montparnasse
’% n@ I La Coupole
2 rmmmm— .
0 Ay o 05k = ) Closerie des Lilas
8] 2 4 8 0 x

a) Using the scale given in the map, how far is it from Centre Pompidou to La Coupole?
Zywm  (405) X 500
V4 2500 m 2]

b) What is the compass direction of Montparnasse from Centre Pompidou?

oW [1]
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22 ¥

L
Eal

a) Give the coordinates of the point "
labelled A.
(6,55) m e
b) Plot and carefully label point B at 6
(1,2) [1] XA
4
c¢) Using vertical and horizontal
movements only shown how you
would travel from A to B. ol LB
5 Lot (west)
3% down  (fouth) % 2 4 5 8 10

(1]

23. In the box below draw the locus of a ball as it is thrown up in the air and then allowed
to come back down again. [1]

24. Draw a compass clearly labelling the 8 standard compass directions.

N

N~ NE

SE

[1]
<
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25. Using the number 48.386 answer the following questions.

a) What is the place value of the 8 digit? Ones l unid 0¥ h(::;‘:ilﬁ”[l]
b) What is the value of the 3 digit? 3 leatwe [1]
c) Write the number in expanded form.
x10 + Fx1 + 3ot Zjoo t Yo
( 03 « 003 + 0.006) [
d) Write the number as a mixed number.
43 %)O [1]

26. Three runners A, B and C ran a race and recorded the following times A =52.382
secs, B=52.379 secs and C=52.390 secs.

a) Place the three runners in the correct order on the podium shown. [1]
g
A
&~
3rd Ist 2nd

b) Add the three tirineis ’to gether (no marks given without full working).
52.379
52.310
s2.332

(521351 : oV
152.15] 1]

c) What is the time difference between the first and third in the race?
(no marks given without full working).

8 i

52, 340
- 52 371 %

5.0 F!

N
0.011 []
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27. Calculate showing full working.
a) 246x3.2=

il
x Bl /

'¢ 92
7330

28t =/

(2]
28. Complete the fractions shown.
3 a /
a) — —
8 24
/

2 1o 40

3 15 Lo/

8
29. Simplify z—é‘ as far as possible.

21

30. Rewrite T as a mixed number.

7

31. Tum 4 g into an improper fraction.
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b) 6.432 + 5 =

hz_ﬁ;/
5 V6. 46320 V
2]

[1]

[2]-

N

[1]

[1]




32.
a) Find the lowest common multiple of 6 and 8.

6: 6, 12, 13, L
3: g, 16, (LTF ‘/
2% [1]
b 5

b) Change bothg and '6" into fractions with the lowest common denominator.

2T S v)
33. Calculate
2 4
a) — + - = 5 /
7 7 ok
7 [1]
9 4
ETRT 7
d [1]
3
34. Jake has a bag of 24 marbles. He gives 'é‘ of his marbles to his friend Albert.
How many marbles does he give to Albert?
24 =3 x 3
7 v/
[2]
: 3
35. Convert 'é':
a) Into a decimal.
4
0.37S [1]
b) into a percentage
0
s T
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36. Find 22% of 880.
§30 =100 x ¢z
v

37. At a shop everything was reduced by i.during a sale for 1 week .

Alex paid $45 for a book.
a) How much would the book have cost before the sale?

45 =3 X% P

e ;
p 60 2]

b) After one week everything was then discounted further by another 30%.
How much would the book cost now during the second week of the sale?

45 x +O <100

-/
$ 3(.50 1]
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Problem Solving (show full working for all questions)

38. A cake is made from the ingredients listed below.
0.5 kg flour, 0.45 kg butter, 0.47 kg sugar, 1.8 kg mixed fruit, 4 eggs (70 g each)

a) When all of the ingredients are mixed together how much does the cake
weigh?

DS + 045 + 0.¢«7F + 1.8 4 & X 0.07

) v/
35 kj [1]

b) The cake loses 12% of it weight during cooking. What is its final weight?

Thetr  4) x 0.8%8

35 = 0.42 |
$:0% 19 m

c) At snack time John ate g of the cake, Mary ate é and Albert ate %.
What fraction of the cake was eaten?

- il B (
AGE® L oL o1 = 1
' (’/i - R 2

q - 3
L lo o %
"6
d) What fraction was left?

o o '/y—

[11

39. A train engine pulls 4 identical carriages. The engine is § the length of a carriage

and the total length of the train (4 carriages plus the engine) is 86.8 m.
Calculate the length of the engine.

563 = (¢%)
8.6 x Z = 12§
° vV
(Z ¢ w 2]
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40. At the supermarket Jane sees signs for potatoes.
4 Rocopy Bewza
Potatecs Potatoes

6 kg for $4 2.5kg for $1.80
N N J

Show by your calculations which is better value, Krispy or Bonza.

((ru‘s;\yj ¢ ~¢ = Jo.6 per klggman —/

Boneu 18 =25 = J0.#2 per &("(c\o}fdm/l

va
RN N pj botter  value

[2]

41. Jeremy bought 32 boxes of Gummy Bears for $6.30 a box. There were 140 Gummy
Bears in each box. He repackaged them into small bags with 20 Gummy Bears in each
bag and sold each bag for 70 cents.

a) How much did the Gummy Bears cost him to buy?

630 % 32

. v/
J20 (. 6p [1]

b) How many bags of Gummy Bears did Jeremy have to sell?

32 x 10 = €80
£e30 + 20 - v
22¢
¢) How much profit did he make when he had sold all of the Gummy Bears?
226y 0.F = 15630 4
/
i56.30 - 201.60
SH30

los3
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42. The container shown has sides where:
A=20 cm, B=50 cm and C=60 cm.

a) Find the volume of the container.

Q0 ¥ SOx 60
/

60,000 cm® [1]

b) The container is filled with 45 litres of water.
What are the dimensions of the part of the container which is filled with water?

60,000 am® = 60 L

45 L s B o

boL ¥ /

3 X2W = 5 5 B i 60 M
yny 0%

43. The rectangle and square shown below have the same area. The rectangle is 25 cm by
9 cm.

9 cm

25 cm

a) What is the area of the rectangle?

Qv

295 GML [1]

b) What are the dimensions of the square?

7 x 7 = us
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44.A wooden box weighs 22kg when it is half full of apples and weighs 15kg when it is
one-third full of apples. What is the weight of the box when empty?

L . = 7
o= 1k s, box o 27
a7 ¢

5 -6 = LK

| kq 2]
\J
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